SENTENTIAL DEDUCTION
CONDITIONAL PROOF DEMO

You can show an argument to be valid by assuming that the premises are true and deducing the conclusion from them.  When the conclusion of an argument is a conditional statement, you are proving a certain relationship exists between the antecedent and the consequent.  Specifically, you are showing that the antecedent logically implies the consequent (when combined with the information contained in the premises).   When the conclusion of an argument is a conditional (such as q ( (g & t)), you can show the argument VALID using a CONDITIONAL PROOF.

1. Assume that the antecedent of the conditional conclusion (p) is true and write it as a numbered fact, indented from the left margin to show that it is an assumption (and not a premise or fact deduced from the premises).

2. Try to deduce the consequent of the conclusion ((g & t)), by combining the information in the assumption with other facts listed in the deduction (using rules of deduction).  Each new fact you write down must be indented.

3. When you deduce the consequent, draw a line under it and up to the arrow pointing to the assumption to contain all information derived based on the assumption and to show that the mini-proof (or nested proof) of the consequent from the antecedent is completed.

4. Make the next deduction line un-indented and write a formula that summarizes what the mini-proof showed (i.e. q ( (g & t)).
NOTE:  Since this summary line contains the conditional conclusion you were trying to prove, you are finished!






To deduce:  q ( (g & t)
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